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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed (any ten) :
1x10=10
fafiRemms Fotrdt e fun (R e v=)

(a) ‘“‘An argument is merely a collection of
propositions.”” Is it true?
“qol P T T Rggm W oW )
BT IPoICA ?

(b) On wﬁat depends, the validity of an
argument?
1 taver Rz oo 67 33 2
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(c)

(d)

(e)

f

(g
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(2)

Give an €xample - of clags mem
proposition.

C TSR o7 b1 e e |

bership

(X3
A vali

. d argument cgp never have true
premises and a false conclusion,”’

(Write True or False)

What is the symbolic
negative proposition?

WW@%WW%?{&@%%?

form of universal

What i? the hame of the subject of th
conclusion of a syllogism? )

Which is the symbol that indicates the

form of a com
pound i .
symbolic logic? Pl‘Oposmonv n

O HREFS ey
mwmm? ,mﬁfﬁ?m

( Continued )

(3)

(h) Does a variable contain a definite
meaning?

51 91 RIS @ e =i = ?

(i) Find out the alternative proposition from
the following :

TS TRAATR o1 3o Jocol R et -
(i) 1 eat rice or bread.
3 ©[° W Fb AW |
(i) Either he or I shall go.
o6 APA RINI
(iii) He is alive or dead.
o¢ qifiko T IO |

(i) According to the rules of syllogism, if one
premise is negative, then conclusion will

‘be .

(Fill up the blank)

e e SR, 3R «o1 SR 3o
Jedfs T, (SR P T3

(R 3% <R )
(k) Is truth table method a decision
procedure?
ere! SR S 9Bl CraeF *wlS = 2
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(5)

(4)
(1) In . 2. Answer briefly (any five) : 2x5=10
quazi::vcrsmn, there is a change in the Eﬂ\h‘%@?ﬁmiﬁ @:FIT sfo61) -
%antiyi tquamit}r / both quality and .
ctween premi .
(Fimlj) fise and conclusion. (a) Mention two characteristics of argument.
out the correct answer)
e o1 CafiEr Teas 90|

(b) State two differences between proposition

TG “ifRgde
SR and argument.
(o Taachr <1f Sfenen) 5 I I TS 4 I N A
(m) Mention one important s (c) Are A, E, 1, O propositions categorical or
symbolic logic and : _relatmn between conditional? Which term is distributed in
b traditional logic. i ' ition?
S S a negative proposition!
L3 w
TS 2 Bl gy RIS w$Rere A, E, I, O To°GaR FRers G S0ers 7 Ape(e
IR o {5 o G 2
(n) ‘BOCARDQ’ ;
- s a valid mood of the (d) Define one-predicate proposition with
i example.
e (Fill up the blank) 9% e 57 SHIPTR SR fram
— REE @y
, G af . (¢) Name the authors of  Principia
(=141 57z 39 1) Mathematica.

(0) Who is the father of Logic? Fgingipia Matemptios SREe GINY CRisL T

SR T CF= 2 () Define immediate inference with example.
SRR, SN S i e |
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: (7)
(6)

( I

1x5=5
itions :
, : ical form of propos
nice present in my logica T5E AR
birthday.” Find oyt the ‘referent’ and wero frEl AR © w
‘relatum’ of thjg Proposition, G 3
“o8 @ @#ﬁq@, Bl S Sofz fifeet | (i) All that glitters are not gold.
R Pt SR ST A1 S | e S 9 T T
(h) What is the fallacy of undistributed (ii) Every man is liable to error.
middle?
I R W T e 2

oifem FCER 1 A |

3. Answer the follow

(iii) Lions never eat grass.

. e { ]
Ing questiong (any four) : 5x4=20 P nt in the

ese
e EPICIRA Taq o (R I Wﬁﬁ) X (iv) Almost all people are pr
~{a)  Write a short Note on (any ope) - 5 R 53 oo SAfes wifes |
F{Cﬁﬂﬁm(ﬁ@mqﬁ) A dents can pass the
P é t students
(0 Truth and vaigiy, (v} Only mtf-mfen
amination.

T W1 2y > - oArre B X

BaCAICdR,

(ii) Square of Opposition of PToposition AT |
T RN g Tlerg 2 State different
L. sition? Sta
; What is simple pr0p0. ; 1+4=35

(b) ::fhm*:()llss S'Yl;ﬂb(‘ﬂ" State four utilities of using i (@ types of simple proposition.

In logic, 1+4= A ffen @ )
EIDE
ﬁ%ﬁo%ﬁmﬂ%m«wﬁﬁ WWW@i?W
CARIIST Bz <oy S S
) ( Tum Ove?’)
22A/1229
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(8)

(9)
(e) What is logi
i
between $Cal constant? State differences
) ogical cop 4. Answer the following questions (any four) :
Vanablc, Stant and lOgicaI 10X4=40
o SRR o= Frfife e S i (R o s :
o T R e
el (a) Define syllogism and explain  1ts
(f) What is co characteristics. 2+8=10
nversion? Mak,
the following propositions - ¢ converse ;f s e e T S 29 CARERTIR I 9
2 =
TS QT ? oo Tfifs (b) What is figure of syllogism? Explain
TG 91 © IHTCFBH ; :
different  figures  of syllogism  with
(i) All men are morty] examples. 2+8=10
PCE A =W T kEm Jeee R I SRR
1 i 7
men is perfect,
CRTCT 1R w72y o5 | (c) Define a proposition, according to the
(i) S modern logicians. Describe different kinds
Ome men are h f ition wi
onest. of compound proposition with examples.
gt gz =g My | 2+8=10
&l e g SR WS, B S foran
[ © general rules of syllogism Tope T oie Rfen 4 Afoe To
}[ TR 4T BT S 1 40 1
|
| (h) Explain four- foltiea: (d) What is obversion? Explain the rules of
‘ eme of proposition. obversion. 2+8=10
[ sffeqd T QA ? ofSqdaq fAmweER T
22A/12 A
29
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(¢) What i |
At is symbolic logic? D | , , g
characteristicg 8ic? Discuss the : (i) Symbolize the following with the help of
of symbolic logic. 4+6=10 | logical symbols as used in propositional
W Wﬁ@m. _&? logic 2x5=10
R G < | 3 SR Wwﬁ@ﬁ@wmwm
Dol ST oS ACRE SoIFrae 1 o
A erences between  traditional (i) ‘But’ is truth functional, while
Ymbolic logic. 10 ‘because’ is not truth functional.
""““"‘fr;;] ST e oS g oS, SWAe R
e =t POFRG Chfaem
T 54 | o oA T |
(&) Explai (ii) It is false that Lovlina Borgohain is
r 'm the process of 4 not an Indian boxer.
Indirect e application 251 TS & 5 5
CXamples, MU table method  with @ﬁ@ﬁm% I il )
T 10
Wmmm (i) You will pass in the examination if
| TG <t ey , IferpT “fafS zicaal and only if you work hard.
I
i off f@ers o R 1 W ik IR
Constryct truth tap) N
determ; ¢ for the followi
| TIINe the tryy, value of ¢ ‘:lowmg and o (iv) It is untrue that students are not
| TS fadare ach : 5+5=1 intelligent.
| m'@ﬁl?ﬁwmmww SR ¢ B g |
(i) POq)5 p ’ (v) If it does not rain, then we shall go
(i) (p : 2q for shopping.
q)v~
1V =lpvq) 3t g B, corg Wit @R IR
: M |
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(12)

() Elaborate the differences between
deduction and induction. 10

R o SR T W@ R IR
o

* ok %
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